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(Enterprise Project Structure) 
EPS 

 اىٖٞنو اىزفنٞنٜ ىَششٗػبد اىششمخ 

 

 

 



(Organization Break down Structure) 
OBS 

 اىٖٞنو اىزفنٞنٜ ٗاىزْظَٜٞ ى٘ظبئف اىششمخ

ٗٝنُ٘ ٍ٘اصٝب ىٖب ىز٘صٝغ اىَٖبً ػيٚ اىٖٞئبد   EPSٜ ٕ٘ ػجبسح ػِ ػَيٞخ ر٘صٝغ اىَٖبً ػيٚ ٍششٗػبد اىششمخ ف

 اىَخزيفخ ىدَٞغ قطبػبد اىششمخ 

 

 

 

 

 

 

 

 

 



(Work Break down Structure) 
WBS 

 اىٖٞنو اىزفنٞنٜ ٗاىزفصٞيٜ ىيَششٗع 

- Work Break down Structure      (W. B. S):- 

         Work elements                                         الهٌكل التفكٌكً لبنود المشروع 

The W.B.S is a hierarchical structure which is designed to logically sub-divide all 

the work- elements of the project into smaller elements.  

 

Work Break down structure (Why)? WBS   لماذا ٌتم عمل  

- Prepare project plan. 
 للمساعدة فً سهولة إعداد البرنامج التخطٌطً للمشروع . -

- Identifying Activities. 
 للتعرف  كل الأنشطة المحتمل وجودها بالمشروع. -

- Scheduling. 

 لعمل المخطط الزمنً للمشروع . -
 

-  Identifying cost & schedule at various levels of details. 
 

 دولة الزمنٌة عند مستوٌات مختلفة من التفاصٌل .لسهولة معرفة التكالٌف و أٌضا الج -
 

- Time & cost control. 
 لعمل المراقبة والتحكم فً كل من الوقت والتكلفة . -

 

- Identifying individual or departmental responsibilities. 
 

 لتحدٌد مسئولٌة كل فرد مشارك بالمشروع. -
 

 

 

 



 

 

Project A 

 

 

 

 

  Mobilization Works                 Sub_ Structure Works                 Super _ Structure Works      

 

 

                                                               Soil Works                               Ground Floor Works 

 

                                                                                                                   Concrete Works 

Concrete Works 

                                                                                                                   Finishing Works 

 

         

                                                                                                                First Floor Works  

 

Concrete Works             

                           

                                                                                                                 Finishing Works 

 

 

 



 

Project A 

 

 

 

 

  Mobilization Works                 Sub_ Structure Works                 Super _ Structure Works      

 

    

  1- Cleaning & Leveling                 1 – Soil Works:-  

  2- Fixing the fence                             1- Excavation  

  3- Supply & Erection of                    2 – Back filling  

       Site offices                                    3 – Bitumen &insulation  

 

                                                             2 – Concrete Works:-  

                                                              1 – Shuttering P.C Footing 

                                                              2 – Placing P.C Footing 

                                                              3 - De shuttering P.C Footing 

                                                              4 – Shuttering R.C Footing 

                                                              5 – Steel Fixing R.C Footing 

                                                              6 – Placing R.C Footing 

                                                              7 – De shuttering R.C Footing   

 

 

 

 

 



 

Super _ Structure Works 

 

 

  

       Ground Floor Works                                                                          First Floor Works  

 

 

    1 – Concrete Works: -                                                

      1 – Shuttering G _ Floor R.C Columns  

      2 – Steel Fixing G _ Floor R.C Columns 

      3 – Placing G _ Floor R.C Columns 

      4 – De shuttering G _ Floor R.C Columns 

      5 – Shuttering G _ Floor R.C Slab 

      6 – Steel Fixing G _ Floor R.C Slab 

      7 – Placing G _ Floor R.C Slab 

      8 – De shuttering G _ Floor R.C Slab 

 

 2 – Finishing Works: -  

      1 – Brick Works  

      2 – Preliminary Carpentry Works 

     3 - Preliminary Electrical Works  

     4 – Preliminary Sanitary Works  

     5 – Plastering  

     6 – Painting 

     7 – Flooring  

     8 – Finishing of Carpentry Works  

     9 – Finishing of Electrical Works 



     

Super _ Structure Works 

 

 

  

       Ground Floor Works                                                                          First Floor Works  

 

 

                                                                              1 – Concrete Works: -                                  

              1 – Shuttering 1st _ Floor R.C Columns                                                                         

                                                                                              2 – Steel Fixing 1st _ Floor R.C Columns 

                                                                                              3 – Placing 1st _ Floor R.C Columns 

                                                                                              4 – De shuttering 1st _ Floor R.C Columns 

                                                                                              5 – Shuttering 1st _ Floor R.C Slab 

                                                                                              6 – Steel Fixing 1st _ Floor R.C Slab 

                                                                                              7 – Placing 1st _ Floor R.C Slab 

                                                                                             8 – De shuttering 1st _ Floor R.C Slab 

                                                                

2 – Finishing Works: -                                                                                                    

                                                                               1 – Brick Works  

                                                                                            2 – Preliminary Carpentry Works 

                                                                                            3 - Preliminary Electrical Works  

                                                                                            4 – Preliminary Sanitary Works  

                                                                                            5 – Plastering  

                                                                                            6 – Painting 

                                                                                            7 – Flooring  

                                                                                            8 – Finishing of Carpentry Works  

                                                                                           9 – Finishing of Electrical Works 



 

ACTIVITY ID  

ACTIVITY NAME ACTIVITY ID  WBS ID  

Mobilization Works 

Cleaning & Leveling A1000 A.01 

Fixing the fence A1010 A.01 

Supply & Erection of Site offices A1020 A.01 

Sub_ Structure Works 

 

Excavation A1030 A.02.10 

Back filling A1040 A.02.10 

Bitumen &insulation A1050 A.02.10 

Shuttering P.C Footing A1060 A.02.20 

Placing P.C Footing A1070 A.02.20 

De shuttering P.C Footing A1080 A.02.20 

Shuttering R.C Footing A1090 A.02.20 

Steel Fixing R.C Footing A1100 A.02.20 

Placing R.C Footing A1110 A.02.20 

De shuttering R.C Footing A1120  

Super _ Structure Works 

 

Shuttering G _ Floor R.C Columns A1130 A.03.10.01 

Steel Fixing G _ Floor R.C Columns A1140 A.03.10.01 

Placing G _ Floor R.C Columns A1150 A.03.10.01 

De shuttering G _ Floor R.C Columns A1160 A.03.10.01 

Shuttering G _ Floor R.C Slab A1170 A.03.10.01 

Steel Fixing G _ Floor R.C Slab A1180 A.03.10.01 

Placing G _ Floor R.C Slab A1190 A.03.10.01 

De shuttering G _ Floor R.C Slab A1200 A.03.10.01 

Brick Works A1210 A.03.10.02 

Preliminary Carpentry Works A1220 A.03.10.02 

Preliminary Electrical Works A1230 A.03.10.02 

Preliminary Sanitary Works A1240 A.03.10.02 

Plastering A1250 A.03.10.02 

Painting A1260 A.03.10.02 

Flooring A1270 A.03.10.02 

Finishing of Carpentry Works A1280 A.03.10.02 

Finishing of Electrical Works A1290 A.03.10.02 

Final Finishing  A1300 A.03.10.02 

 



 

ACTIVITY NAME ACTIVITY ID  WBS ID  

Steel Fixing 1st _ Floor R.C Columns A1310 A.03.20.01 

Placing 1st _ Floor R.C Columns A1320 A.03.20.01 

De shuttering 1st _ Floor R.C Columns A1330 A.03.20.01 

Shuttering 1st _ Floor R.C Slab A1340 A.03.20.01 

Steel Fixing 1st _ Floor R.C Slab A1350 A.03.20.01 

Placing 1st _ Floor R.C Slab A1360 A.03.20.01 

De shuttering 1st _ Floor R.C Slab A1370 A.03.20.01 

Brick Works A1380 A.03.20.02 

Preliminary Carpentry Works A1390 A.03.20.02 

Preliminary Electrical Works A1400 A.03.20.02 

Preliminary Sanitary Works A1410 A.03.20.02 

Plastering A1420 A.03.20.02 

Painting A1430 A.03.20.02 

Flooring A1440 A.03.20.02 

Finishing of Carpentry Works A1450 A.03.20.02 

Finishing of Electrical Works A1460 A.03.20.02 

Final Finishing  A1470 A.03.20.02 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Creating Codes  

 اّشبء اىق٘اٍٞظ 

 

 

 

 

 

 

 

 

 

 

 



Contracts

Price given in advance Cost reimbursement

Lump - sum

Unit price

Schedule of rates

Package deal

Cost + fixed fee Cost + % fee

Target cost

 

Examples for Project Codes:- 

A – Contract Type:- 

 

 

 

 

 

 

 

B – Categories:- 

Categories  

 

Infrastructure Projects                                                         Residential Projects                

 

                               Nonresidential Projects                 Industrial Projects     

C – Division of Residential Projects:-  

Division of Residential Projects 

 

 فبخش                 اعنبُ شجبة                                اعنبُ ٍز٘عػ                              اعنبُ            

 

 

 

 



 

D – Tender Price:- 

Tender Price 

 

   Small Projects                       Middle Projects               Big Projects 

     

   Less than 30 M          Between 30M and 110 M         More than 110 

M   

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 



 

 

Examples for Activity Codes:- 

A – Responsibility:- 

 

  

   

  



 

B – Area Department :- 

 

  

   

 

 

 

 

 

 

 

 

 



 

 



 

 



 

 



 

 

 



 

 



 

 



 

 



 

 



 

 

 

 

 

 



 

 

 

 

  

 

 

 

 



 

 

 

 

 

 

 

 



  

 Resource Management 

 

  -ٕٜ ػجبسح ػِ ػَيٞخ ادخبه مو اىَ٘اسد اىَطي٘ثخ لاٛ ّشبغ ٍِ اّشطخ اىَششٗع ٕٜٗ اٍب اُ رنُ٘ :

 

1 – Labors. 

  بالساعةرنُ٘ ٗحـــذح اىقٞــبط فٜ ٕزِٝ اىْ٘ػِٞ ٍِ اىَ٘اسد  

  .Equipment – 2 باليـــومٗثبىْغـــجخ ىيجشّبٍح ٝزٌ اىزؼبٍو  

 

3 – Materials.  

  -رنُ٘ ٗحذح اىقٞبط فٜ ٕزا اىْ٘ع ٍِ اىَ٘اسد ٕٜ :               

  .    m   اىَزش اىط٘ىٜ – 1               

 .   m2اىَزش اىَشثغ – 2               

 .   m3 اىَزش اىَنؼت – 3               

 .    ton اىطــــِ – 4               

 .   eachثبى٘حذح – 5               

4 – S/C (Subcontractor). 

 .   Lump SUMرنُ٘ ٗحذح اىقٞبط فٜ ٕزا اىْ٘ع ٍِ اىَ٘اسد ٕٜ اىَقط٘ػٞـــــخ 

 . ٗاىْدبسح ٍثبه اػَبه اىغجبمخ ٗاىنٖشثبء ٗٝنُ٘ غبىجب فٜ اػَبه اىزشطٞجبد              

 

اىؼَبىخ ىزىل فبّٔ لاثذ ٍِ ٍؼشفخ احزٞبج مو ّشبغ ٍِ ٕزٓ اىَ٘اسد الاعبعٞخ حٞث اُ احزٞبخٔ ٍِ 

ُ٘ ثشنو اخَبىٜ ٕٗزا ٝنٗاىَؼذاد ٝنُ٘ ػيٚ ٕٞئخ اغقٌ فَِ اىََنِ ادخبه رفبصٞو الاغقٌ اٗ ادخبىٖب 

 ثبغقٌ اىَؼذاد . ثشنو اخص 



 

  -خط٘اد اىؼَو :

 اعزؼشاض مٞفٞخ ػَو حغبثبد اىزنبىٞف ىجؼط اىجْ٘د ٍِ اىَششٗع ٍٗذٙ احزٞبخٖب ٍِ اغقٌ ػَبىخ  – 1

 ٍٗؼذاد ٍٗ٘اد خبً ٍٗب ارا مبّذ عزغْذ ىَقبٗه ثبغِ .       

 ٍؼٖب ٍٗذٙ احزٞبج مو ّشبغ ٍْٖب .  اعزؼشاض أّ٘اع اىَذد اىضٍْٞخ ىلاّشطخ اىَخزيفخ ٗمٞفٞخ اىزؼبٍو – 2

 اعزؼشاض خذاٗه اىَ٘اسد اىَطي٘ة ادخبىٖب ىيجشّبٍح . -  3

 مٞفٞخ ادخبه اىَ٘اسد ىيجشّبٍح ٗاىزؼبٍو ٍؼٖب .  – 4

 مٞفٞخ رخصٞص اىَ٘اسد ػيٚ الاّشطخ اىَخزيفخ ٗحغبثبرٖب .  – 5

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

  -َ٘اسد اىَطي٘ثخ ىٖب :ّٗقً٘ الاُ ثزفصٞو ثؼط ثْ٘د اىَششٗع لادخبه اى

  -اولا الاعمال المدنٌة : 

Site preparation 

  -الموارد المطلوبة :                                      

المعـــدات .  – 2العمالـــة .                                               - 1             

         Labor cost:- 

                 Duration = 1 day  

                                                  4 labors                          30 LE/day 

     Labor cost = 4×30 = 120 LE/day 

     Equipment cost:- 

No. Equipment All in rent rate 

1 Loader 3.5m3 600 LE/day 

1 Scraper  400 LE/day 

 

 Equipment cost = 600 + 400 = 1000 LE/day 

 

 

        Total cost:- 

               

                                Total cost = 120 + 1000 = 1120 LE / day 

 

 

 



 

Excavation Activity  

From Cost Estimate:-  

Excavation works -A  

- Surface drilling cube dimensions and drawings of specific data for operational level 

and even the Earth's natural level of incorporation 

In sand soil 

3m 2500Q =  

o Truck capacity=10 m3 

o Production rate of excavator= 400  m3/day= 50 m3/hr. 

o Eff. = 0.8 

o Total cycle time of truck =( loading time +going time  +dumping time 

+return time + maneuver time) 

o Going time = 0.5x60/8 = 3.75 min 

o Return time = 0.5x60/15 = 2 min 

o Maneuver time = 2 min 

o Dumping time = 2 min 

o Loading time = 10*60/50 = 12 min 

o Total cycle time = 21.75 min 

o No of trucks = 21.75/12 =1.81  truck 

 

          We can use only 2 trucks    

 

 

 

 



 

Production rate = 250 m3/day 

NO. Equipment All in rent rate 

1 Excavator 800  LE / day 

1 Loader 600  LE / day 

2 Truck 300  LE / day 

 

NO. Labors Cost /day 

2 Unskilled 35 LE /day 

 

- Duration = quantity / P.R 

- D = 2500/ 250 =10 days  

- equip. cost = 10 * 1* (1*800+1*600+2*300) = 20000 LE  

- Labor cost = 10*2*35= 700 LE  

- ( equip. + labor ) cost = 20000+700= 20700  LE  

- Direct cost /m3 = 20700/2500 = 8.28 LE / m3 

  

   

 

 

 

 

 

 

 

TOTAL D.C Unit D.C   

LE / m3 

unit quantity item 

20700 8.28 m3 2500 EXCAVATION 

in sand soil 



Back filling  

  -الموارد المطلوبة : 

 المواد الخام .  – 3العمالة .                     – 2المعدات .                                      - 1

Q = 2100 M3 (for one block) 

P.R = 400 m3/day 

NO. equipment All in rent rate 

1 Roller 10t 550 LE /day 

1 loader 600 LE /day 

2 truck 300 LE /day 

1 Water tank truck 170 LE /day 

   

 

NO. labors Cost / day 

2  Un skilled 35  LE /day 

 

Duration = 2100/400=5.25 days≈6 days 

Equip. cost =6*(1*550+1*600+2*300+170) =11520 LE  

Labor cost= 6 x 2 x 35 = 420 LE 

(equip. + labor) cost =11940 LE 

Material cost =17.25 *2100 =36225LE 

TOTAL COST = 11940 + 36225 = 48165 LE  

Direct cost /m3 = 48165/2100 = 22.94 LE/m3 

 

 

 

 

ITEM QUANTITY UNIT UNIT D. C 

LE/m3 

TOTAL D. C 

LE 

FILLING WITH 

SAND 

2100 m3 22.94 48165     



 

All in rates:-  

All in rate sand cost                                

Factors  - + Total  

Primary cost    15 

Discounts  10 % from market 1.5   

Handling  5 %  0.75  

Waste 5 %  0.75  

Contingency for price increase 15 %  2.25  

Total addition & discounts 1.5 3.75  

Total cost add   2.25 

Total cost   17.25 

 

All in rate gravel cost 

Factors  - + Total  

Primary cost    60 

Discounts  10 % from market 6.0   

Handling  5 %  3.00  

Waste  5 %  3.00  

Contingency for price increase 15 %  9.00  

Total addition & discounts 6.00 15.0  

Total cost add   9.0 

Total cost   69.0 

 

 



 

All in rate Cement cost 

Factors  - + Total  

Primary cost    550 

Discounts  10 % from market 55   

Handling  5 %  27.50  

Waste  5 %  27.50  

Contingency for price increase 15 %  82.50  

Total addition & discounts 55 82.50  

Total cost add   27.50 

Total cost   577.50 

 

All in rate Steel cost 

Factors  - + Total  

Primary cost    3500 

Discounts  10 % from market 350   

Handling  5 %  175  

Waste  5 %  175  

Contingency for price increase 15 %  525  

Total addition & discounts 350 875  

Total cost add   525 

Total cost   4025 

 

 

 

 



 

All in rate for 1000 Bricks cost 

Factors  - + Total  

Primary cost    320 

Discounts  10 % from market 32   

Handling  5 %  16  

Waste  5 %  16  

Contingency for price increase 15 %  48  

Total addition & discounts 32 80  

Total cost add   48 

Total cost   368 

 

 

 

All in rate For Materials  

 

 

 

 

 

 

 

 

 

Material type Unit  Cost per unit 

Cement  1 ton  577.50 LE 

Sand  1 m3 17.25 LE 

Gravel  1 m3 69 LE 

Water  1 m
3
 4.5  LE 

Steel 1ton 4025 LE 

Bricks 1000 Bricks 368 LE 



 

            Isolation - بنـــــــد العـــــــــــــزل

Bitumen insulating paint to moisture for Foundations  

Q  = 830 m2 

P.R COST/DAY LABOR NO 

75 m2/ labor  50/labor  Skilled 3 

 

Duration = Q / PR 

Duration = 830 / 3 * 225 = 3.69 days ≈ 4 days  

LABOR COST = 4 * 50 * 3 * 3 = 1800 LE 

Material cost  

1 Barrel PAINT 20 m2 

42 Barrel PAINT 830 m2 

ALL IN RATE (BITUMINE) 

Factor Deduct  

£/BARRLE 

Add  £/BARRLE Total  

£/BARRLE 

Primary quotation before discounts   330 

10% deduction for discounts 

obtainable 

33   

5% allowance for multiple handling  16.50  

5% allowance for wastage  16.50  

15% allowance for price increase  49.50  

Total deductions/additions 33 82.50  

Total additions   49.5 

Total estimated cost/unit   379.5 

  

 

 



 

- Material cost = 42 * 379.5 = 15939 LE 

- Total cost = material cost + labor cost 

- Total cost = 15939 + 1800 = 17739 LE 

  

- Direct cost / m2 = 17739 / 830 = 21.37 LE / m3 

 

 

 

 

 

    

 

 

 

 

 

 

 

 

 

 

 

 

 

ITEM QUANTITY UNIT 
UNIT D. C 

LE/m2 

TOTAL D. C 

LE 

Isolate with 

bitumen 
830 M2 21.37 17739 



 

Plain Concrete for Foundation  

  -بنـــد الخرسانة العادٌة اللازمة للقواعد العادٌة : 

وخلافه   اعد الشرٌطٌة والمنفصلة والمٌداتتورٌد و تنفٌذ خرسانة عادٌة للأساسات )أسفل القو -
                          3كجم / م 252لكبرٌتات لا ٌقل عن بمحتوى أسمنت مقاوم ل

Plain concrete for foundation: 

I.  Form works (Shuttering). 

II. Placing works. 

III. De shuttering. 

I. Form works: 

a) Material. 

b) Labor. 

 a) Material cost analysis:  

          * Cost of Form works.     

 Cost of 1 m3 wood    = 2500 LE  

 Number of use wood form = 5    

 The cost of 1 uses = 2500/5 = 500 LE 

 Cubic of wood on 1 side = 1m * 1 m * 0.02 = 0.02 m3 

 Cubic of wood for 1 m3 concrete 

        = 4 * 0.02 + 12*1*0.1*0.02 +4*1*0.1*0.02 

        = 0.112 m3 wood / 1 m3 concrete for footing. 

 Direct cost of wood / m3 = 0.112 * 500 = 56 LE/m3 p.c.  

 + Wastage = 4 %     

 Direct cost of wood / m3 = 56 *1.04 = 58.24 LE/ m3 

(Direct cost of Wood with Bolts) \ m3 = 58.24 * 1.05 = 61.15 LE / m3   



                                        

b) Labor cost analysis:   

   Q= 90 M3 

P.R = 5 M3/day 

Cost/ day Labors NO. 

110LE /day Carpenter 3 

60 LE /day assistant 2 

35 LE /day unskilled 2 

 

Using 3 Crews :-  

Duration = 90 / 5 * 3 = 6 days 

Labor cost = 6 * 3 * (3*110+2*60+2*35) = 9360 LE 

Labor cost / m3 = 9360 / 90 = 104 LE/m3 

Total direct cost of form work / m3 = 61.15+ 104 = 165.15 LE/m3 

 

 

 

 

 

 

 

 

 

 

 



 

 Placing works  الصب باستخدام خلاطة مركزٌة 

 a) Material.  

 b) Labor. 

 c) Equipment. 

 

 a) Material cost analysis: 

use a ready mix concrete )Cost of 1 m3 concrete = 450 LE/m3 

** test concrete cubic take 6 cubic every   50 m3 

Cost of 1 cubic = 30 LE 

Cost of 6 cubic = 6*30 = 180 LE 

Cost of 1 m3 concrete = 180 / 50 = 3.60 LE  

 Material Direct cost /m3 = 3.60 + 450 = 458.60 LE/m3                                                  

   b) Labor cost analysis 

P.R = 320 m3/day 

Cost/ day Labors NO. 

60 LE/ day Worker for pipe of pump 1 

60 LE/ day Forman 1 

110 LE/ day carpenter 1 

60 E/ day assistant 1 

 

Duration = 90 / 320 =.28 ≈ 1 days 

 Labor cost = (3 x 60 + 110) = 290 LE/day 

 Labor Direct cost /m3 = 290 / 90 = 3.22 LE/m3 

    

 



                                        

c) Equipment analysis:- 

 

All in rent rate Equipment  NO. 

150 LE /day Vibrator 1 

 

Equipment cost = 1*150 =150 LE 

Equip. direct cost /m3 = 150 / 90 =1.66 LE/m3 

Total direct cost for placing work /m3  

                                                       = 458.6 + 3.22 + 1.66 = 463.48 LE/m3 

Direct cost of Plain concrete for foundation /m3  

= 463.48 + 165.15 = 628.63 LE/m3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUANTITY UNIT 
UNIT D. C 

LE/m3 

TOTAL D. C 

LE 

90 M3 628.63 56576.7 



 

 Placing work (with mixer) - الصب باستخدام الخلاطة النحلة 

A) Material. 

b) Labor. 

c) Equipment. 

 

a) Material cost analysis: 

(use mixer (1/4 m3)  ,  P.R=45 m3) 

Duration = 90 / 45 = 2 day 

1 m3 Concrete  = 1 m3 gravel + 0.5 m3 sand + 250 kg cement + 175 liter water 

Vendor Price for Materials used:- 

 
Material type Unit  Cost per unit 

Cement  1 ton  550 LE 

Sand  1 m3 15 LE 

Gravel  1 m3 60 LE 

Water  1 m
3
 4  LE 

 

All in rate For Materials  

 

 

 

 

Material Cost =  

                              69 + 0.50 x 17.25 + (5 / 20) x 577.50 + 0.175*4.5   

                              =   222.79 LE/m3 

Total cost = 222.79 * 90 = 20050.875 LE  

 

Material type Unit  Cost per unit 

Cement  1 ton  577.50 LE 

Sand  1 m3 17.25 LE 

Gravel  1 m3 69 LE 

Water  1 m
3
 4.5  LE 



b) Labor: 

 

 

 

 

 

 

 

 

 

Labor cost = 8 x 30 + 2 x 60 + 110 = 470 LE/day 

Total cost = 470 x 2 = 940 LE 

Labor D.C/m3 = 940 / 90 = 10.44 LE/m3 

c) Equipment:- 

 

No Equipment  All in rent rate 

1 Mixer 400 LE/day 

1 Vibrator 150 LE/day 

 

Equip cost = 2 x (400+150) = 1100 LE 

Total direct cost/m3 = 1100 / 90 = 12.22 LE/m3 

Total direct cost for placing work/m3 = 12.22 + 10.44 + 222.79 = 245.45 LE/m3 

Direct cost of Plain concrete for foundation /m3  

= 245.45 + 165.15 = 410.6 LE/m3 

 

 

 

No Labor Cost/day 

 LE/day 30 عامل نقل رمل و زلط 4

 LE/day 30 عامل صب 2

 LE/day 30 عامل ضبط مٌاه وخلاطه 1

 LE/day 30 عامل هزاز 1

 LE/day 60 فورمجى 1

 LE/day 110 نجار لمتابعه الشده 1

 LE/day 60 مشرف 1

QUANTITY UNIT 
UNIT D. C 

LE/m3 

TOTAL D. C 

LE 

90 M3 410.6 36954 



 

DE shuttering Plain Concrete Footing 

 

  -ثْــــــذ فـــل اىشـــذح اىخشجٞــــخ ىيق٘اػذ اىؼبدٝــــخ :  

 

 

 

 

P.R = 12 m3/day 

No. of crew = 3 

Duration = 90 / 12 * 3 = 2.5 = 3 days 

  Cost of labor = 3 * 3 * 3 * (35) = 945 LE 

Cost of labor/m3 = 945 / 90 = 10.5 LE/m3 

 

 

 

 

 

 

 

 

 

 

 

 

 

P.R = 12 M3/day 

Cost/ day Labors NO. 

35 LE /day Unskilled 3 



 

Reinforced concrete works 

 

تورٌد وتنفٌذ خرسانة مسلحة للأساسات والقواعد المنفصلة والمٌدات وخلافه بمحتوى أسمنت  -
  3كجم /م 352لا ٌقل عن  مقاوم للكبرٌتاتبورتلاندى 

 

1-For foundation: 

Q = 110 m3 

1) Form work 

2) Reinforcement 

3) Placing 

Formwork installing1)  

   a) Material    

   b) Labor  

      A) Material cost analysis: 

Quantity of wood = 8.5 m3 

Cost of 1 m3 wood    = 2500 LE  

 Number of use wood form = 5    

 The cost of 1 uses = 2500/5 = 500 LE 

Total Cost of Wood form with wastage and bolts = 8.5 x 500 x1.04 x1.05 = 4641 LE  

Cost of wood of 1 m3 concrete = 4641 / 110 = 42.19 LE /m3 

 

 

 



 

b) Labor cost analysis 

 

P.R = 5 M3/day 

Cost/ day Labors NO. 

110LE /day Carpenter 3 

60 LE /day assistant 2 

35 LE /day unskilled 2 

 

Using 3 Crews:-  

Duration = 110 / 5 * 3 = 7.3 days ≈ 8 days 

Labor cost = 8 * 3 * ( 3*110+2*60+2*35 ) = 12480 LE 

Labor cost / m3 = 12480  / 110 =  113.45 LE/m3 

Total direct cost of form work / m3 = 42.19 + 113.45 = 155.64 LE/m3 

 

 

 

 

  

 

 

 

 

 



        

mentReinforce2)  

     A) Material analysis 

           1) Reinforcement 

   80kg reinforcement in 1m3 concrete 

price of 1 ton of reinforcement include transportation All in rate  

                                                                                              = 4025 LE 

Total quantity of steel = 110 x 80 /1000 = 8.80 ton  

Direct cost of reinforcement / m3 = 80 * 4025/1000 

                                                                                         = 322 LE/ m3 

            2) Anchorage wire 

Vendor price of anchorage wire = 7 LE /kg 

1 ton reinforcement needs 7 kg anchorage wire 

                                                                                      = 7 * 80 / 1000 = 0.56 kg / m3 concrete 

Direct cost of Anchorage wire/ m3 =0.56 *7=3.92 LE /m3 

Total direct cost of material / m3 = 322 + 3.92 = 325.92 LE /m3 

                        

 

 

 

 

 

 



 

         B) Labor cost analysis 

 

P.R =1.5 ton / day or 18.75 m3 /day for one crew 

No. of crew =1 

Cost / day  Labors NO. 

110  LE/day commando 1 

60  LE/day Fixer 2 

45  LE/day assistant 2 

35  LE/day unskilled 2 

 

Duration = 110 / 18.75 * 1 = 5.87 ≈ 6 days 

Labor cost = 6 * 1 * (110 + 2 * 60 + 2 * 45 + 2 * 35) = 2340 LE 

Direct cost of labor /m3 = 2340 /110 = 21.27 LE/m3 

Total direct cost of Reinforcement /m3 = 325.92 + 21.27 

                                                                                          = 347.19 LE/m3 

           

 

 

 

 

 

 



 

 Placing3)  

**in case of use ready mix concrete      

:Placing works. I 

 a) Material.  

 b) Labor. 

 c) Equipment. 

a) Material cost analysis: 

use a ready mix concrete )Cost of 1 m3 concrete = 600 LE/m3 

** test concrete cubic take 6 cubic every   50 m3 

Cost of 1 cubic = 30 LE 

Cost of 6 cubic = 6*30 = 180 LE 

Cost of 1 m3 concrete = 180 / 50 = 3.60 LE  

 Material Direct cost /m3 = 3.60 + 600 = 603.60 LE/m3                                                  

   b) Labor cost analysis 

P.R = 320 m3/day 

Cost/ day Labors NO. 

60 LE/ day Worker for pipe of pump 1 

60 LE/ day Forman 1 

110 LE/ day carpenter 1 

60 E/ day assistant 1 

 

Duration = 110 / 320 =.28 ≈ 1 days 

 Labor cost = (3 x 60 + 110) = 290 LE/day 

 Labor Direct cost /m3 = 290 / 110 = 2.64 LE/m3    



 

                               

c) Equipment analysis:- 

 

All in rent rate Equipment  NO. 

150 LE /day Vibrator 1 

 

Equipment cost = 1*150 =150 LE 

Equip. direct cost /m3 = 150 / 110 =1.36 LE/m3 

Total direct cost for placing work /m3  

                                                       = 458.60 + 2.64 + 1.36 = 462.6 LE/m3 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

DE shuttering R.C Concrete Footing 

 

  -ثْــــــذ فـــل اىشـــذح اىخشجٞــــخ ىيق٘اػذ اىَغيحـــخ :  

 

 

 

 

 

 

P.R = 12 m3/day 

No. of crew = 3 

Duration = 110 / 12 * 3 = 3 days 

  Cost of labor = 3 * 3 * 3 * (35) = 945 LE 

Cost of labor/m3 = 945 / 110 = 8.60 LE/m3 

 

 

 

 

 

 

 

 

 

P.R = 12 M3/day 

Cost/ day Labors NO. 

35 LE /day Unskilled 3 



 

Reinforced concrete Columns  

 

  -كمٌــــة الخشب المطلوبة للاعمدة عبارة عن :

2 Columns (25*30) 
 

(1)Sheathing 
 

First side = 2.5*30*100*2 = 15000 cm3 
Second side = 2.5*25*100*2 = 12500 cm3 
Total = 27500 cm3 
 

(2) Yokes = ((2.5*30*2) + (2.5*25*2))*2 = 550 cm3 
 

(3)Shores = 10*10*100*4 = 40000 cm3 
 

Wood volume /m = 27500 +550 + 40000 = 68050 cm3 
 

Total volume 0f column = 68050* 2.65 = 180332.5 cm3 

 

Total volume = 180332.5*2 = 360665 cm3 

 

2 Columns (25*40) 
 

(1)Sheathing 
 

First Side = 2.5*40*100*2 = 20000 cm3 
Second side = 2.5*25*100*2 = 12500 cm3 
Total = 32500 cm3 
 

(2)Yokes = ((2.5*40*2)+(2.5*25*2))*2 = 650 cm3 
 

(3) Shores = 10*10*100*4 = 40000 cm3 
 

Wood volume /m = 32500 + 650 + 40000 = 73150 cm3 

 

Total volume of column = 73150* 2.65 = 193847.5 cm3 

 

Total volume = 193847.5*2 = 387695 cm3 
 

 

 

 

 



 

10 Columns (40*30)  
 

(1)Sheathing 
 

First side = 2.5*40*100*2 = 20000 cm3 
Second side = 2.5*30*100*2 = 15000 cm3 
Total = 35000 cm3 
 

(2)Yokes = ((2.5*40*2) + (2.5*30*2))*2 = 700 cm3 

 

(3)Shores = 10*10*100*4 = 40000 cm3 
 

Wood volume/m = 35000+700+40000 = 75700 cm3 

 

Total volume of column = 75700*2.65 = 200605 cm3 

 

Total volume = 200605 *10 = 2006050 cm3 

 

5 Columns (30*50)  
 

(1)Sheathing 
 

First side = 2.5*50*100*2 = 25000 cm3 
Second side = 2.5*30*100*2 = 15000 cm3 
Total = 40000 cm3 
 

(2)Yokes = ((2.5*50*2) + (2.5*30*2))*2 = 800 cm3 

 

(3) Shores = 10*10*100*4 = 40000 cm3 

 

Wood volume /m =40000+800+40000 = 80800 cm3 
 

Total volume of column = 80800 *2.65 = 214120 cm3 
 

Total volume = 214120 *5 = 1070600 cm3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

2 Columns (30*60) 
 

(1)Sheathing 
 

First side = 2.5*60*100*2 = 30000 cm3 
Second side = 2.5*30*100*2 = 15000 cm3 
Total = 45000 cm3 
 

(2) Yokes = ((2.5*60*2) + (2.5*30*2))*2 = 900 cm3 

 

(3) Shores = 10*10*100*4 = 40000 cm3 

 

Wood volume /m = 45000+900+40000 = 85900 cm3 

 

Total volume of column = 85900*2.65 = 227635 cm3 
 

Total volume = 227635*2 = 455270 cm3 

 

3Columns (30*70) 
 

(1) Sheathing 
 

First side = 2.5*70*100*2 = 35000 cm3 
Second side = 2.5*30*100*2 = 15000 cm3 
Total = 50000 cm3 
 

(2)Yokes = ((2.5*70*2) + (2.5*30*2))*2 = 1000 cm3 
 

(3) Shores = 10*10*100*4 = 40000 cm3 

 

Wood volume /m = 50000+1000+40000 = 91000 cm3 
 

Total volume of column = 91000*2.65 = 241150 cm3 
 

Total volume = 241150*3 = 723450 cm3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

6 Columns (25*80) 
 

(1) Sheathing 
 

First side = 2.5*80*100*2 = 40000 cm3 
Second side = 2.5*25*100*2 = 12500 cm3 
Total = 52500 cm3 
 

(2) Yokes = ((2.5*80*2) + (2.5*25*2))*2 = 1050 cm3 
 

(3) Shores = 10*10*100*4 = 40000 cm3 
 

Wood volume = 52500 + 1050 + 40000 = 93550 cm3 
 

Total volume of column = 93550*2.65 = 247907.5 cm3 
 

Total volume = 247907.5 *6 = 1487445 cm3 
 

1 Column (80*30) 
 

(1) Sheathing 
 

First side = 2.5*80*100*2 = 40000 cm3 
Second side = 2.5*30*100*2 = 15000 cm3 
Total = 55000 cm3 
 

(2)Yokes = ((2.5*80*2) + (2.5*30*2))*2 = 1100 cm3 

 

(3) Shores = 10*10*100*4 = 40000 cm3 

 

Wood volume = 55000+1100+40000 = 96100 cm3 

 

Total volume of column = 96100*2.65 = 254665 cm3 

 

Total volume = 254665*1 = 254665 cm3 
 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

2Column (40*65) 
 

(1)Sheathing 
 

First side = 2.5*65*100*2 = 32500 cm3 
Second side = 2.5*40*100*2 = 20000 cm3 
Total = 52500 cm3 
 

(2) Yokes = ((2.5*65*2) + (2.5*40*2))*2 = 1050 cm3 

 

(3)Shores = 10*10*100*4 = 40000 cm3 
 

Wood volume /m = 52500+1050+40000 = 93550 cm3 
 

Total volume of column = 93550*2.65 = 247907.5 cm3 

 

Total volume = 247907.5*2 = 495815 cm3 
 

 

 

 

 

 

 

 

 

Total volume for ground floor = 7241655 cm3   =7.24 m3 

 

Unit volume = 7.24/16.70 = 0.43 m3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Analysis cost for Ground columns 

 
Q=16.70 m3 

 

1) Form work 
 

   Q = 7.24 m3 

 

(A) Materials:-  

 
Cost of 1 m3 wood    = 2500 LE  

 Number of use wood form = 5    

 The cost of 1 uses = 2500/5 = 500 LE 

Total Cost of Wood form with wastage and bolts = 7.24 x 500 x1.04 x1.05 = 3953 LE  

Cost of wood of 1 m3 concrete = 3953 / 16.70 = 236.7 LE /m3 

(B) Labors:- 

 

P.R = 5 M3/day 

Cost/ day Labors NO. 

110LE /day Carpenter 3 

60 LE /day assistant 2 

35 LE /day unskilled 2 

 

Using 1 Crew:-  

Duration = 16.70 / 5 = 3.34 days ≈ 4 days 

Labor cost = 4 * (3*110+2*60+2*35) = 2080 LE 

Labor cost / m3 = 2080 / 16.70 = 124.55 LE/m3 

Total direct cost of form work / m3 = 236.7 + 124.55 = 361.25 LE/m3 

 



 

  

  

2) Steel work:- 
 

Q = 3586 kg = 3.586 ton    From Quantity Survey 

 

(A) Materials:-  

 

tReinforcemen1)             

    

price of 1 ton of reinforcement include transportation All in rate  

                                                                                              = 4025 LE 

Direct cost of reinforcement = 3.586 x 4025 = 14433.65 LE 

Direct cost of reinforcement / m3 = 14433.65/16.70 

                                                                                         = 864.29 LE/ m3 

            2) Anchorage wire 

Vendor price of anchorage wire = 7 LE /kg 

1 ton reinforcement needs 7 kg anchorage wire 

                 = 7 * 3.586 / 16.7 = 1.5 kg / m3 concrete 

Direct cost of Anchorage wire/ m3 = 1.5 *7= 10.5 LE /m3 

Total direct cost of material / m3 = 864.29 + 10.5 = 874.79 LE /m
3 

                        

 

 

 

 



 

         B) Labor cost analysis 

 

P.R =1.5 ton / day or 18.75 m3 /day for one crew 

No. of crew =1 

Cost / day  Labors NO. 

110  LE/day commando 1 

60  LE/day Fixer 2 

45  LE/day assistant 2 

35  LE/day unskilled 2 

 

Duration = 16.7 / 18.75 * 1 ≈ 1 days 

Labor cost = (110 + 2 * 60 + 2 * 45 + 2 * 35) = 390 LE 

Direct cost of labor /m3 = 390 / 16.70 = 23.35 LE/m3 

Total direct cost of Reinforcement /m3 = 325.92 + 21.27 

                                                                                          = 347.19 LE/m3 

           

 

 

 

 

 

 



 
(3) Placing 
  
**in case of use ready mix concrete      

:Placing works. I 

 a) Material.  

 b) Labor. 

 c) Equipment. 

a) Material cost analysis: 

use a ready mix concrete )Cost of 1 m3 concrete = 600 LE/m3 

** test concrete cubic take 6 cubic every   50 m3 

Cost of 1 cubic = 30 LE 

Cost of 6 cubic = 6*30 = 180 LE 

Cost of 1 m3 concrete = 180 / 50 = 3.60 LE  

 Material Direct cost /m3 = 3.60 + 600 = 603.60 LE/m3                                                  

   b) Labor cost analysis 

P.R = 320 m3/day 

Cost/ day Labors NO. 

60 LE/ day Worker for pipe of pump 1 

60 LE/ day Forman 1 

110 LE/ day carpenter 1 

60 E/ day assistant 1 

 

Duration = 16.7 / 320 ≈ 1 days 

 Labor cost = (3 x 60 + 110 ) = 290 LE/day 

 Labor Direct cost /m3 = 290 / 16.7 = 17.37 LE/m3    



 

                                        

c) Equipment analysis:- 

 

All in rent rate Equipment  NO. 

150 LE /day Vibrator 1 

 

Equipment cost = 1*150 =150 LE 

Equip. direct cost /m3 = 150 / 16.7 =8.98 LE/m3 

Total direct cost for placing work /m3  

                                                       = 603.60 + 17.37 + 8.98 = 629.95 LE/m3 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Analysis of Cost Estimate Parameters for 

 Reinforced concrete works 

 

 أعمال الخرسانة المسلحة :

بالمتر المكعب تورٌد وتنفٌذ خرسانة مسلحة جاهزة من محطات الخلط التً ٌعتمدها المهندس المشرف وذلك لزوم  -

أسقف الفٌلات ومكونات الخلطة ونسبة الأسمنت ونوعه والمقاومة الممٌزة للخرسانة طبقاً للمبٌن بالرسومات 

ب والإضافات والأعمال الخشبٌة التً ٌحتاجها العمل والمعالجة بعد الصب الإنشائٌة والفئة تشمل التورٌد والص

 وكل ما ٌلزم من أعمال لإتمام عملٌة الصب علً الوجه الأكمل وطبقاً للمواصفات الفنٌة وأصول الصناعة .

-  
Ground Floor 

Reinforced concrete  

 

1) Form work & Shuttering  

2) Reinforcement  

3) Placing  

1) Form work installing 

a) Material cost analysis : 

- Amount of Concrete = 78 M3 

- Wastage = 4 % 

- No of uses = 5 times 

- Cost of 1 M3 wood = 2500 LE 

- Amount of wood (From Form Work Design) = 2.23 M3 

- Total cost of wood = 2500 * 2.23 = 5575 LE 

- With wastage = 5575  * 1.04 = 5798 LE 

- Cost Of one use = 5798 / 5 = 1159.6 LE 

- Total cost of nails = 1159.6 *0 .05 = 57.98LE 

- Total cost of wood & nails = 1159.6 + 57.98 = 1217.6 LE  

- Total cost of wood & nails for 1 M3 conc.=( 1217.6 / 78)= 15.61 LE/ M3 

 

 



b) Labor cost analysis :   
 

P.R = 5 M3/day 

Cost/ day Labors NO. 

110LE /day Carpenter 3 

60 LE /day assistant 2 

35 LE /day unskilled 2 

 

Using 3 crews:- 

- Duration = 78 / 3 x 5  = 5.20 ≈ 6 Day 

- Total cost of Labor = 6 * 3 *( 3*110 + 2*60 + 2*35 ) = 9360 LE 

- Total cost of Labor for 1 M3 concrete = 3120 / 78 = 40.0 LE 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2) Reinforcement 

 

a) Material cost analysis : 

- Wastage = 2 % 

- Handling = 2 % 

- Cost of 1 ton Steel = 4025 LE 

- Amount of steel =  9.5 ton 

- Total cost of steel = 4025 * 9.5 = 38237.5 LE 

- Cost of steel for 1m3 concrete = 38237.5 / 78 = 490.22 LE / m3 

-  1 ton reinforcement needs 7 kg anchorage wire = 7 * 9.5 / 78 = 0.85 kg /m3  

- Direct cost of anchorage wire / m3 = 0.85 x 7 = 5.95 LE / m3 

- Total direct cost of material / m3 = 490.22 + 5.95 = 496.1 LE / m3 

 

b) Labor cost analysis 
 

P.R =1.5 ton / day or 18.75 m3 /day for one crew 

No. of crew =1 

Cost / day  Labors NO. 

110  LE/day commando 1 

60  LE/day Fixer 2 

45  LE/day assistant 2 

35  LE/day unskilled 2 

 

- Duration = 9.5 / 1.5 = 6.33 ≈ 7 Day 

- Total cost of Labor = 7 * ( 1*110 + 2*60 + 2*45 + 2 * 35 ) = 2730 LE 

- Total cost of Labor for 1 M3 concrete = 2730 / 78 = 35 LE / m3 
  

Total Cost of (Steel Work) = 42497 LE 

Total Cost of 1 M3   Concrete (Steel Work) = 550.78 LE 

 



3) Placing 

   

 In case of use ready mix concrete 
 

a) Material cost analysis : 

- Cost of ready mix concrete of 1 M3 concrete (Delivery & Pumping) = 

600 LE 

- test concrete cubic take 6 cubic every 50 M3 

- Cost of 1 cubic = 30 LE 

- Cost of 6 cubic = 6*30 = 180 LE 

- Total cost of 1 M3 concrete = 180 / 50 = 3.6 LE 

- Total cost of 1m3 concrete = 3.6 + 600 = 603.6 LE /m3  

- Total cost of concrete = 603.6 x 78 = 47080.8 LE  

b) Labor cost analysis 
 

P.R = 320 m3/day 

Cost/ day Labors NO. 

60 LE/ day Worker for pipe of pump 1 

60 LE/ day Forman 1 

110 LE/ day carpenter 1 

60 E/ day assistant 1 

 

Duration = 78 / 320 =.24 ≈ 1 days 

 Labor cost = (3 x 60 + 110) = 290 LE/day 

 Labor Direct cost /m3 = 290 / 78 = 3.72 LE/m3    

 

 

 

 

 

 

 



           

c) Equipment analysis:- 

 

All in rent rate Equipment  NO. 

150 LE /day Vibrator 1 

 

Equipment cost = 1*150 =150 LE 

Equip. direct cost /m3 = 150 / 78 =1.92 LE/m3 

Total direct cost for placing work /m3  

                                                       = 603.6 + 3.72 + 1.92 = 909.24 LE/m3 

 

  

 

 

 

 

 

 

 

 

 

 

 



 

  سواء أكان بند الطوب العادي او طوب قصة الردم            -بنــــد الطــــوب :

  -المطلوبة :   الموارد

 العمالة .  – 2المواد الخام .                                             – 1

  -المواد الخام المستخدمة : 

 الطوب .  – 3اسمنت .                    – 2رمل .                          – 1  

  -الكمٌات المطلوبة للمتر المكعب طوب :

 %  5طوبـــة                نسبة الهالك  434مكعب طوب =  عدد الطوب للمتر ال

 طوبـــة  x 1025  =462 434عدد الطوب بعد الهالك = 

 %  22نسبة الهالك                      3م 2021الرمل اللازم للمتر المكعب طوب = 

  3م x 1022  =2025 2021الرمل بعد الهالك  = 

 لكل متر مكعب رمل  كجم اسمنت 322الاسمنت بفرض انه 

 كجم  x 322  =62 2025لذلك الاسمنت = 

 

  -الكمٌات المطلوبة للمتر المربع طوب :

 %  5طوبـــة                نسبة الهالك  55عدد الطوب للمتر المربع طوب = 

 طوبـــة  x 1025  =54 55عدد الطوب بعد الهالك = 

 %  22نسبة الهالك                      3م 20221طوب =  الرمل اللازم للمتر المربع

  3م x 1022  =20225 20221الرمل بعد الهالك  = 

 كجم اسمنت لكل متر مكعب رمل  352الاسمنت بفرض انه 

 كجم  x 352  =9 20225لذلك الاسمنت = 

 

 

 



 

  -العمالــــة المستخدمـــة : 

Production Rate = 6 m3 / day or 40 m2 / day  

Cost per day Labor Type Number 

 

110 LE / Day/Each 

Brick Worker 

  ثْبِٝٞ
2 

 

60 LE / Day/Each 

Assistant 

 دثبػ ىْقو اىط٘ة 
2 

 

40 LE / Day/Each 

Unskilled  

 ٍ٘اُ ىزدٖٞض اىَّ٘خ ّٗقيٖب ىيَجبّٜ
2 

 

35 LE / Day/Each 

Labor 

  صجٜ ىيزَيٞخ ٗرفشٝغ اىؼشاٍٞظ 
1 

 

 بناء لمعل الكحلة وبمعدل مساوي لمعدل انتاج الطاقم السابق سواء اكانت الوحدة  1م عدد وٌضاف الى هذا الطاق

 متر مكعب او متر مربع . 

 

 

 

 

 

 

 

 

 

 

 



 

 -:  من قائمة حصر الكمٌات كانت كمٌة الطوب المطلوبة للدور الارضً عبــــارة عن

  2م 111بالمتر المربـــع طوب = 

  3م  21بالمتر المكعـــب طوب =

  - أولا للمتر المربـــع طوب :

 طوبة  6342=  54*  112اجمالـــً الطوب المطلوب = 

 رمل  3م 20,5=  20225*  112اجمالـــً الرمــل المطلوب = 

 كجم اسمنت .  96205=  352*  20,5اجمالـــً الاسمنت المستخدم = 

  -ثانٌا للمتر المكعــب طوب : 

 طوبة  9242= 462*  22اجمالـــً الطوب المطلوب = 

 رمل  3م 5022=  2.25*  22اجمالـــً الرمــل المطلوب = 

 كجم اسمنت . 1522=  322*  5022اجمالـــً الاسمنت المستخدم = 

  -الكمٌـــة الاجمالٌــــة :

 طوبة  15621=  0241+  6331اجمالـــً الطـــوب المطلوب  = 

 رمل  3م 5,,,=  5,11+  5,,2اجمالـــً الرمـــل المطلوب = 

  طــــن اسمنت 2,51كجم اسمنت=  2462,5=  1511+  062,5اجمالـــً الاسمنت المطلوب = 

  -الزمــــن المطلوب فً تنفٌذ بند الطوب :

 ٌوم  5,,2=  41 \ 111بالنسبة للطوب بالمتر المربع = 

 ٌوم  3,33=  6 \ 21بالنسبة للطوب بالمتر المكعب = 

  أٌــــام ,=  3,33+  5,,2بند الطوب =  اذن الوقت المطلوب لتنفٌذ

  -التكلفة الاجمالٌـــة لبند الطوب :

 جنٌه  3055=  ,*  565=  ,( *  35+  41*  2+  61*  2+  111*  3تكلفة العمالة = ) 

 جنٌه  333,5,=  5,,,5*  2,5+  25,,1*  5,,,+  363,5*  15,621تكلفة المواد الخــام = 

 جنٌــــه  11233,5=  333,5,+  3055اجمالـــً التكلفة = 

 



 

Activity Steps  

  

مفصل لانشطـــة المشروع وذلك   WBSبالنسبة للانشطة فً حالة عدم الرغبــة فً عمل   Steps تستخدم عملٌة الــ

 البند فً نشاط واحد بدلا من تفصٌله . عن طرٌق اجمال

ومثالا على ذلك لو اردنا عمل بند الخرسانة المسلحة للسقف  تقوم بالتقسٌم الداخلً للنشاط Stepsلذلك نجد ان الــ 

 ( والتفصٌل له الى مجموعة خطوات داخلٌة وهـــً النجارة والحدادة والصب   G.F. SLABواسمه ) كنشاط واحد 

  -وفك الشدة الخشبٌة وذلك كما ٌللً :

 

 

 للسقف المراد تفصٌلهبند الخرسانة                                                 

 

 

 Stepsالاختٌار                            

 

 

 

 للنشاط Steps هذه الـــ                                               

 Addعن طرٌق  Stepsٌتم اضافة الــ                                                                                        

 

 

 

 

 



 

  -وللتعامل مع التقسٌم ٌكون كالتالً : 

 

 

 

  

 

 

 

  -: هً  G.F.L Slabللنشاط   Stepsالانشطة الداخلٌة الموجودة داخل الــ 

1 – Shuttering   اٌــام توضع فً خانة  6وهً عبارة عن الشدة الخشبٌة وزمنهاStep Weight    . 

2 – Steel Fixing  اٌــام توضع فً خانة  7حدادة وزمنها وهً عبارة عن اعمال الStep Weight  . 

3 – Placing Concrete   توضع فً خانة  ٌوم 1وهً عبارة عن عملٌة الصب وزمنهاStep Weight  . 

4 – Lag of De shuttering   اٌــام  7وهو عبارة عن الوقت اللازم لكً تتصلد الخرسانة قبل فك الشدة وزمنها 

 مع ملاحظة انها فترة تاخر اجبارٌة ولا ٌوجد بها اي نوع من الموارد .  Step Weightة توضع فً خان       

5 – De shuttering   ـام توضع                      اٌـ 3وهو عبارة عن الوقت المطلوب لفك الشدة الخشبٌة وزمنه 

 . Step Weightفً خانة       

 ٌوم وٌوضع مع النشاط الاصلً والذي تم تقسٌمه كما هو  24هً  للنشاط  Steps وبذلك ٌكون مجموع انشطة الــ

 موضح باعلى . 

 وٌحسبها البرنامج تلقائٌا   Stepهً عبارة عن النسبة المئوٌة لزمن كل   Step Weight Percentحٌث خانة 

  ولا ٌمكن التغٌٌر فٌها .   Step Weightبمجرد ادخال قٌمة 

 

 

 

 



 

Steps with Resource  

ٌتطلب الفهم الجٌد لكٌفٌة ادخال   Stepsللنشاط  لوضع الموارد وتوقٌعها علً هذه الــ   Stepsمل مع الــ للتعا

    Original Duration  & Original Lag الموارد للبرنامج حٌث هنا ٌتم استخدام ما ٌسمى بــ 

  -حٌث ان الانشطة هً :

1 –  Shuttering  ًالنشاط وحتى الٌوم السادس فً النشاط لذلك تعامل الموارد وهذا الخطوة ستبدأ من اول ٌوم ف 

  -اٌام وكانت هذه الموارد :  6اٌام تبدا من الٌوم الاول وتنتهً بعد  6لمدة لها على هذا الشكل بانها تعمل         

Materials                  Wood form                 Budget Unit = 2.23 m3 

Labors                      Shuttering Crew         Budget unit / time = 3 d / d  

 بالنسبة لمكانه فً تنفٌذ النشاط .   Stepهً عبارة عن زمن بداٌة الــ  Original Lagنجد ان معنً كلمة 

 .  Stepهً عبارة عن المدة الزمنٌة اللازمة لتنفٌذ الــ   Original Durationونجد ان معنً كلمة 

  -نجد : Step لذلك هنا فً هذه الــ 

 

Original Lag = 0                                    Original Duration = 6                   

2 –  Steel Fixing فً النشاط لذلك تعامل  13النشاط وحتى الٌوم  فً  6 ٌومبدأ من نهاٌة الوهذا الخطوة ست       

   -وكانت هذه الموارد :  ٌوم 13وتنتهً بعد  6اٌام تبدا من الٌوم  7هذا الشكل بانها تعمل لمدة  لها على الموارد       

         

Materials                  Steel Reinforcement                 Budget Unit = 9.50 ton  

                                 Anchorage Wires                      Budget unit = 66.30 kg 

Labors                      Steel Crew                                Budget unit / time = 1 d / d   

  -نجد : Step لذلك هنا فً هذه الــ 

 

Original Lag = 6                                    Original Duration = 7                   

 

 

 



 

3 –  Placing Concrete فً النشاط لذلك  14النشاط وحتى الٌوم  فً  13 ٌومبدأ من نهاٌة الوهذا الخطوة ست             

                                وكانت هذه  ٌوم 14وتنتهً بعد  13اٌام تبدا من الٌوم  1لها على هذا الشكل بانها تعمل لمدة  المواردل تعام       

   -الموارد :        

Materials                  Concrete ready mix R.C                 Budget Unit = 78 m3  

Equipment's                             Vibrator                           Budget unit / time = 1 d / d   

Labors                      Concrete ready mix Crew               Budget unit / time = 1 d / d 

  -نجد : Step لذلك هنا فً هذه الــ 

Original Lag = 13                                    Original Duration = 1 

 

3 –  De shuttering لنشاط لذلك تعامفً ال 24النشاط وحتى الٌوم  فً  21 ٌومبدأ من نهاٌة الوهذا الخطوة ست   

   -وكانت هذه الموارد :  ٌوم 24وتنتهً بعد  21اٌام تبدا من الٌوم  3لها على هذا الشكل بانها تعمل لمدة  الموارد      

         

Labors                      DE shuttering Crew               Budget unit / time = 1 d / d 

  -نجد : Step لذلك هنا فً هذه الــ 

Original Lag = 21                                    Original Duration = 3 

  -ملحوظة هامة :   

 لكً تاخذ الخرسانة مقاومتها .   lagاٌام من انتهاء نشاط الصب وهذه المدة تعتبر الــ  7تمت بداٌة هذا النشاط بعد 

 

 

 

 

 

 

 



Duration Type of Activity 

 

 

 

  

 

 



  

 

 

 

 

 

 

 

 

 



Resources Codes 

Labors Crews Needed 

Price / unit Max Units / 

time  

Default Units 

/ time 

Resource Name Res ID  

120 LE 1d / d 1d / d Land Scape crew L.S.L 

70 LE 4d / d 1d / d Excavation Crew Ex.L 

70 LE 3d / d 1d / d Back filling Crew B.F.L 

520 LE 6d / d 3d / d Shuttering Crew SH.L 

105 LE 6d / d 3d / d DE shuttering Crew DSH.L 

150 LE 4d / d 1d / d Isolation Crew ISO.L 

390 LE 6d / d 3d / d Steel fixer Crew ST.L 

470 LE 3d / d 1d / d Concrete Placing Crew CON.L 

565 LE 4d / d 2d / d Bricks Crew BR.L 

25000 LE 1LS / d 1 LS / d Sanitary Crew  SA.L 

15000 LE 1LS / d 1 LS / d Electrical Crew ELE.L 

12000 LE 1LS / d 1 LS / d Carpenter's Crew  CAR.L 

8000 LE 1LS / d 1 LS / d Plastering Crew PLS.L 

10000 LE 1LS / d 1 LS / d Painting Crew PIN.L 

2000 LE 1LS / d 1 LS / d Finishing Crew FIN.L 

290 LE 3d / d 1d / d Concrete ready mix 

Crew 

CNR.L 

 

 



 

Equipment Crews Needed 

Price / unit Max Units / 

time  

Default Units 

/ time 

Resource Name Res ID  

600 LE 3d / d 1d / d Loader LO.E 

400 LE 4d / d 1d / d Scraper  SC.E 

800 LE 3d / d 1d / d Excavator EX.E 

300 LE 6d / d 3d / d Truck TRK.E 

550 LE 6d / d 3d / d Roller RO.E 

170 LE 4d / d 1d / d Water tank truck WTK.E 

150 LE 6d / d 3d / d Vibrator  VB.E 

470 LE 3d / d 1d / d Concrete Mixer MIX.E 

     

     

     

     

     

     

     

     

 

 

 



 

Material Needed 

Price / unit Max Units / 

time  

Default Units 

/ time 

Resource Name Res ID  

17.25 LE 50m3 / d 8m3 / d Fine Sand SAN.M 

69 LE 50m3 / d 8m3 / d Gravel GAR.M 

577.5 LE 20ton / d 8ton / d Bortland Cement CEM.M 

379.5 LE 10ea / d 1ea / d Bitumen  BAR.M 

0.368 LE 5000ea / d 1000ea / d Bricks ( 6 x 12 x 25 ) BR.M 

458.60 LE 150m3 / d 100m3 / d Concrete ready mix p. c CON.M 

4025 LE 20ton / d 10ton / d Reinforcement Steel ST.M 

2500 LE 10m3 / d 5m3 / d Wood Forms WO.M 

7 LE 400kg / d 100kg / d Anchorage Wire ANC.M 

4.5 LE 10m3 / d 5m3 / d Water WAT.M 

603.60 LE 150m3 / d 100m3 / d Concrete ready mix R.C CONRC.M 

     

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 



 

 

 

 

 

 



 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 



 

 

 

  

 

 



 

 

 

 

 

 



 

 

 

 

 

 

 

 



 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 



 

 

 



Time – Cost Integrated System 

 اىْظبً اىَزنبٍو ىَشاقجخ اى٘قذ ٗاىزنيفخ ىيَششٗع 

 

 

 

   Time Control                                                                                                    Cost Control 

 

Earned Value Management  

EVM 

 

  1 - Time Control   

  هً عبارة عن عملٌة مراقبة أزمنة تنفٌذ الأنشطة لمعرفة الأنشطة التً تم تنفٌذها أي الانتهاء منها *

   فٌها . من الانشطة والتً مازلت بحٌز سٌر العمل من الانشطة التً لم ٌتم البدء  

   Problems during construction: -   المشاكل الحادثة أثناء عملٌة التنفٌذ    

   1- Construction is complex operation.  

 .  عملٌة التنفٌذ معقدة ومركبة وذلك لوجود العدٌد من الأطراف بها وتداخل مسئولٌات هذه الأطراف -

2- Despite the good planning, many activities consume more time than Planned.    

 بالرغم من أن المخطط من الممكن أن ٌكون جٌدا ولكن من الممكن زٌادة أزمنة بعض الأنشطة عن        -

 -المخطط لها وذلك للاسباب التالٌة :  

   Variability's are very highالمتغٌرات بعملٌة التنفٌذ تكون بدرجة مرتفعة  -1  

 & حدوث تلف فً العدات    material delayمثال تأخر المواد الخام         

        Equipment break down  للعمال & حدوث اصابات داخل الموقعLabor accident 



  

 الاعتماد علً البٌانات الموجودة من مشارٌع سابقة وهً تخص معلومات عن الانتاجٌة  -2  

 ك لربما تغٌر كفاءة الاطقم الموجودة عن كفائتها بالنسة لهذه المشروعات تكون غٌر دقٌقة وذل       

 .  Reliability is lowالسابقة        

3- Frequent changes are introduced to the scope of work.  

 ة التغٌٌر فً بعض أنشطة العمل أو الزٌادة فً حجم الأعمال عن المتفق علٌه ٌدفع المقاول الً زٌاد - 

 كل من الوقت والتكلفة .      

4- Some trades proceed slower then required, thus produce delays. 

   .    تلٌهالً علً أزمنة الأنشطة والتً بعض الحرف مثال السباكة ربما تسٌر بكفاءة أقل من المخطط وبالتا  -

5- Dealing with suppliers and subcontractors is not easy. 

 .  كون التعامل نفسه فً حد ذاته مع الموردٌن ومقاولً الباطن لٌس سهلا كما هو متوقع - 

6- Change in actual activity duration or network logic.  

 لها وبالتالً زٌادة فً الوقت .  تغٌر أزمنة الأنشطة الفعلٌة عما كان مخطط -

 7- Sudden changes of labor availability.  

العمالة وبالتالً وع كبٌر وتتطلب عدد كبٌر جدا من حدوث انخفاض مفاجئ فً عدد العمالة وذلك لربما وجود مشر -

   ٌؤثر علً باقً المشروعات الأخري . 

  8 - Strikes. 

  حدوث اضرابات للعمالة وذلك لربما بغرض زٌادة الأجور وبالتالً ٌحث توقف تام عن العمل .  - 

 9 - Change in design.  

 

 التغٌٌر فً التصمٌم أثناء التنفٌذ مما ٌدفع المقاول الً زٌادة الوقت والتكلفة .  - 

  

 

 

 



  - : Objectives of project control أهداف مراقبة الوقت للمشروعات  

 1- Accurately follow the project plan.  

 ٌقة لمخطط المشروع وسٌر العمل . المتابعة الدق - 

 2- Update the project plan based on the new circumstances.  

 الجدٌدة . المشروع وٌكون مبنً علً الظروف  رٌخ وتحدٌث لمخططإعادة تأ  Reschedulingعمل  - 

 3- Monitor actual site progress and keep track resources. 

 وارد الموجودة . المراقبة لتقدم الأعمال بالموقع وأٌضا متابعة الم - 

 4- Comparing actual versus planed progress.  

 مقارنة التقدم الفعلً بأرض الموقع بالمخطط .  - 

    5- Forecast the cost and timing to completion. 

 التنبأ بالتكلفة والوقت الكلً اللازمان لانهاء المشروع .  - 

 6- Take corrective actions to bring time and cost close to plan.  

 اتخاذ القرارت السلٌمة لجلب الوقت والتكلفة لٌكونا قرٌبان من المخطط لهما بقدر الامكان .  -

 

 

 

 

 

 

 

 



 Collecting data to help in project control: -  

 -يساعد في مراقبة المشروع وتكون كالتالي : تجمٌع البٌانات 

  1- Bi-weekly or monthly meeting should take place 

وٌعتمد وقت عات فً الموقع وربما تكون ٌومٌة تكون المتابعة كل أسبوعٌن أو شهرٌا وهً عبارة عن عمل اجتما -

 المتابعة علً أهمٌة المشروع . 

 2- Report on work done till to - date. 

 وجود تقارٌر عن الأعمال حتى تارٌخ المتابعة .  -

 3- Problems causing delays. 

 معرفة المشاكل والتً أدت بدورها إلً حدوث تأخٌر بزمن المشروع .  -

 4- Define responsibilities.  

 تحدٌد مسئولٌات الأفراد لسهولة معرفة المسئول عن التأخٌر الحادث .  -

 5- Work of next time period.  

 تحدٌد مجالات وأنشطة العمل التالٌة .  -

 6- Action needed to correct delays and cost overruns. 

 المساعدة فً معرفة القرارات المطلوب اتخاذها لتعدٌل الوقت الزائد وأٌضا التكلفة الزائدة .  -

 7- Good documentations help in setting claims.   

 مطالبات من لدي المقاول . إعداد المستندات بطرٌقة مستمرة عن الأعمال وذلك لأنها تساعد فً فض ال -

 

 

 

 



 - : Schedule updating عملٌة التحدٌث الأساس فٌها قائم علً  

1- The original plan is considered as the baseline schedule. 

 أن التخطٌط الأصلً للمشروع ٌعتبر بمثابة خط المقارنة الأساسً للجدولة الزمنٌة .  -

 2- Baseline will be used to compare actual progress. 

 التخطٌط الأصلً للمشروع ٌستخدم لتقٌٌم التقدم الفعلً بالأعمال بالموقع . -

 3- Frequent updating is necessary to make the schedule realistic.  

للواقع أي مخطط ما محاكٌا تماعملٌة تحدٌث المخطط تعتبر فً حد ذاتها عملٌة مهمة جدا وذلك لأنها تجعل المخطط  -

  حقٌقً . 

 Data date (updating date): -  

The date in which data are collected form site.  

  Based on this date, activities will be classifies as: -  

     Completed activities.  

     In progress (live) activities.  

     Future activities. 

 

 

 

 

 

 

 



 

 Completed activities: -  

  Duration = remaining duration = 0.00.  

 النشاط نفذ فعلا فالوقت المتبقً به ٌساوي صفر .  -  

   Percent complete = 100%.  

 نسبة انجاز النشاط تكون كلٌة بمعنً تنفٌذه كاملا . -  

  Set an actual start date. 

 رٌخ البداٌة الحقٌقٌة للنشاط لربما عدم بداٌته فً الوقت المخطط له . معرفة تا -  

  Set an actual finish date. 

 معرفة تارٌخ النهاٌة الحقٌقٌة للنشاط لربما عدم انتهائه فً الوقت المخطط له وبالتالً ٌؤثر علً  -  

  زمن الأنشطة التً تلٌه وتعتمد علٌه .     

  In progress activities: -  

 Duration = remaining duration.  

   Percent complete = completed duration / actual duration.  

 Set an actual start date.  

 .  المعرفة الجٌدة لتارٌخ البداٌة لربما ابتدي النشاط متأخرا عن المخطط له -

 Future activities: -  

  Duration = remaining  

 Percent complete = 0.00%. 

 



 

 

 

 

 

 

 

 

 

Bar Chart Shows updating  

 

 

اىَقبسّخ  ىنٜ رزٌحزفبظ ثْغخخ ٍِ اىَششٗع الاصيٜ لاثذ ٍِ الاػ ٗاىفؼيٜ اىَْفز فٗىنٜ ّغزطٞغ اىَقبسّخ ٍب ثِٞ اىَخط

ٜ ٗرىل ػِ غشٝق ثٖزٓ اىْغخخ ثٌ ٝزٌ ػَو ٍششٗع ٍغزٖذف ثٌ ٝزٌ رخصٞص اىَششٗع اىَغزٖذف ىيَششٗع اىحبى

  -فزظش اىْبفزح اىزبىٞخ :   Maintain Baselineثٌ اخزٞبس   Projectاخٞزبس قبئَخ 

 

  

 

 

 

 

 

 

 

 



 

  -فزظٖش اىشبشخ اىزبىٞخ :   Addٗلاظبفخ ٍششٗع ٍغزٖذف ٝزٌ اىعغػ ػيٚ 

 

 

 

 

 

ٍِ اىَششٗع اىحبىٜ خخ ٍغ الاخزٞبس الاٗه حٞث اُ ٍؼْبٓ اُ اىجشّبٍح ٝغبه ٕو رشٝذ حفع ّغ  okّعغػ ْٕب ػيٚ 

 مَششٗع ٍغزٖذف ٗالاخزٞبس اىثبّٜ ٝؼْٜ ٕو رشٝذ رح٘ٝو ٍششٗع اخش اىٚ ٍششٗع ٍغزٖذف . 

  -ّدذ اىزبىٜ : 

 

  

 

 

 

 

 

 

ٕزٓ رؼْٜ أّ اىْغخخ   B1حٞث اُ  B1اُ اىجشّبٍح قبً ثبّشبء ٍششٗع ٍغزٖذف ثْفظ اعٌ اىَششٗع اىحبىٜ ٍعبفب اىٞٔ 

 شٗع حٞث َٝنِ ػَو امثش ٍِ ّغخخ ٍغزٖذفخ ىيَششٗع  ثْفظ اىطشٝقخ . الاٗىٚ اىَغزٖذفخ ٍِ اىَش

 

 

 

 

 

 



 

 Assign Baselinesّخزبس   Projectاىخط٘ح اىزبىٞخ ٕٜ رخصٞص اىَششٗع اىَغزٖذف ىيَششٗع اىحبىٜ ٗرىل ٍِ قبئَخ 

  -فزظٖش اىْبفزح اىزبىٞخ : 

 

 

 

 

 

 

 

 

 

 اىَغزٖذف  . ّخزبس اعٌ اىَششٗع   Project Baselineفَِ اىخبّخ 

 ٝزٌ اعزخذاٍٖب فٜ حبه ٗخ٘د امثش ٍِ ٍششٗع ٍغزٖذف .   User Baselinesٗاىخبّبد اعفو الاخزٞبس 

 فْنُ٘ ثزىل قذ قَْب ثؼَو ّغخخ ٍغزٖذفخ ٗرخصٞصٖب .   Okثٌ اىعؼػ ػيٚ 

ثٌ ّخزبس  Toolsٞبس اىقبئَخ اخزثؼذ رىل ّقً٘ ثؼَو ٍزبثؼخ ىيَششٗع غجقب ىيزقبسٝش اىَبخ٘رح ٍِ اىَ٘قغ اثْبء اىزْفٞز فٞزٌ 

Update Progress  ٗثبفزشاض اُ اىَخطػ عبس مَب ٕ٘ فؼيٞب فْدذ اُ اىجشّبٍح ىٌ ٝقً٘ ثؼذ شٖش ٍثلا ّٗقً٘ ثؼَو

اٛ شئ فْقً٘ ّحِ ثؼذ رىل ثبدخبه اىزغٞشاد اىحبدثخ فؼيٞب فٜ اىَ٘قغ ٗاىَؼيٍ٘بد ػِ الاّشطخ ٗاىزٜ اّزٖذ  ثزغٞٞش

ض اىزْفٞز ٗالاّشطخ اىَغزقجيٞخ ارا مبُ قذ ٗسد ػْٖب اىزمش ٕٜ الاخشٛ فٜ رقشٝش اىَزبثؼخ ٍثبه ٗالاّشطخ ٗاىزٜ ٕٜ فٜ حٞ

ّشبغ رٌ حزفٔ اٗ صاد صٍْٔ اٗ ٍب شبثٔ رىل . ٗرىل ػِ غشٝق حبىخ مو ّشبغ غجقب ىزقشٝش اىَزبثؼخ ٗٝزٌ ػِ غشٝق 

  -:اىذخ٘ه ػيٚ مو ّشبغ 

 



 

  -حٞث اُ ْٕبك ثلاثخ اّ٘اع ٍِ اىحغبثبد ىنٞفٞخ رحذٝذ ّغجخ الاّدبص :ظجػ مٞفٞخ قٞبط ّغجخ الاّدبص ٍِ مو ّشبغ ٗ

1 – Physical Percent Complete: -  

 ٗرغزخذً فٜ حبىخ عٖ٘ىخ ادخبه ّغجخ الاّدبص حٞث أّ ٝزٌ حغبثٖب ثَدشد اىْظش . 

2 – Duration Percent Complete:-  

 غشٝق حغبة ػذد الاٝبً اىَزجقٞخ ٗػذد الاٝبً اىفؼيٞخ اىَْفزٓ حٞث ٝزٌ فٜ ٕزٓ اىحبىخ حغبة ّغجخ اّدبص اىْشبغ ػِ 

Duration Percent Complete = (Original Duration – Remaining Duration)  

                                                          Original Duration x 100      

3 – Unit Percent Complete:- 

 ة ّغجخ الاّدبص ْٕب ػيٚ اعبط مَٞخ اىَ٘اسد اىَغزخذٍخ ٗاىَزجقٞخ حٞث ٝزٌ حغب

Unit Percent Complete = (Actual Units / At Completion) x 100 

  -ٗٝزٌ رحذٝذ ّغجخ الاّدبص ٕزٓ ىيْشبغ ػِ غشٝق : 

 

  

 

 

 

 

 

 



 

  -ٗاى٘قذ اىفؼيٜ رىل مئ ٍِ :  ٗىزحذٝذ ّغت اّدبص مو ّشبغ ٗثذاٝزٔ اىفؼيٞخ ّٖٗبٝزٔ اىفؼيٞخ ٗاى٘قذ اىَزجقٜ

 

 

 

 

 

 

 

 

 ٕزٓ اىدضئٞخ ٕٜ اىزٜ ٝزٌ ٍيئٖب ىيْشبغ غجقب ىزقشٝش اىَزبثؼخ ٗرىل قٞبعب ػيٚ اى٘قذ فقػ ٗىٞظ اىزنيفخ  

 

  -ششذ اىخبّبد ٗاىزٜ ثبىْبفزح اىغبثقخ : 

1 – Original:-  

 ٕٜ اى٘قذ اىطجٞؼٜ اىلاصً ىزْفٞز اىْشبغ ٕٗ٘ اى٘قذ اىزٛ رٌ ٗظؼٔ فٜ ثذاٝخ اىزخطٞػ ٗلا ٝد٘ص اىزغٞٞش فٞٔ . 

2 – Actual:-  

 ٗاى٘قذ اىزٛ رٌ رْفٞز اىْشبغ فٞٔ فؼيٞب حزٚ ربسٝخ اىَزبثؼخ ٗاى٘قذ ٗاىزٛ اّزٖٚ اىْشبغ ثٔ ميٞب ٗٝغبٗٛ 

Actual = Actual Finished – Actual Start                                  For Completed Activities  

Actual = Data Date  - Actual Start                                           For In progress Activities 

Actual = Zero                                                                           For Future Activities 

3 – Remaining:-  

 ٕٗ٘ اى٘قذ اىَزجقٜ ىنٜ ٝزٌ رْفٞز اىْشبغ ثٔ ثؼذ ربسٝخ اىَزبثؼخ  ٗٝغبٗٛ 

Remaining = Zero                                                For Completed Activities  

Remaining = Original - Actual                            For In progress Activities 

Remaining = Original                                          For Future Activities 



4 – At Complete:-  

  -ٕٗ٘ اى٘قذ اىلاصً لارَبً رْفٞز اىْشبغ ٗٝغبٗٛ : 

At Complete = Actual                                                       For Completed Activities  

 At Complete = Finished - Actual Start                            For In progress Activities 

 At Complete = Original                                                    For Future Activities 

 

 5 – Started:-  

 اىجذاٝخ اىَخططخ ىيْشبغ ٗػْذٍب ّشٝذ رغٞٞشٕب ػِ غشٝق اىجذاٝخ اىفؼيٞخ ىيْشبغ فٜ اىَ٘قغ ٝزٌ اخزٞبس ٕٜ ػجبسح ػِ ربسٝخ 

 ثؼذ ثذاٝخ اىْشبغ   Aاىضٍِ ٗاىعغػ اٍبٍٖب ىيزح٘ه ٍِ ٍِ ثذاٝخ ٍخططخ ىجذاٝخ فؼيٞخ ٗٝقً٘ اىجشّبٍح ثنزبثخ حشف  اىــ 

 .   Actual Startٕٗزا ٍؼْبٓ اُ ٕزا اىضٍِ 

5 – Finished: -  

فٞزٌ ىيجشّبٍح ٕٜ ػجبسح ربسٝخ ٝغبٗٛ اىْٖبٝخ اىَخططخ ىيْشبغ فٜ حبه اُ اىْشبغ ىٌ ٝجذأ ٗفٜ حبىخ ثذاٝخ اىْشبغ فؼيٞب 

 In progressٕٗزا ٝؼزجش ثبىْغجخ ىيْشبغ اىـ    % Durationر٘قغ ربسٝخ اىْٖبٝخ ثْبءا ػيٚ اىنَٞخ اىَْدضح ٍِ اىْشبغ 

 Actualفؼيٞب ػْذ صٍِ ٍؼِٞ ٝزٌ اىعغػ اٍبٍٔ ٗاخزٞبس ربسٝخ الاّزٖبء ىيزح٘ٝو اىٚ  ٗػْذٍب ٝنُ٘ اىْشبغ قذ اّزٖٜ

Finished  ٗٝزٌ حغبة اىـ At Complete   . ِٞٞثْبءا ػيٚ ربسٝخ اىجذاٝخ ٗاىْٖبٝخ اىفؼي 

6 – Duration % : -  

 ٗرٌ ششحٖب ٍغجقب .  ٕٜ ػجبسح ػِ قٞبط ّغجخ الاّدبص ٍِ اىْشبغ 

7 – Suspended:- 

فٜ حبىخ اُ اىْشبغ ر٘قف ػِ اىؼَو اثْبء اىزْفٞز فٞزٌ فٜ ٕزٓ اىخبّخ ٗظغ ربسٝخ اىًٞ٘ ٗاىزٛ ر٘قف فٞٔ ٕزا اىْشبغ  

 ٗٝغَٚ ٕزا اىْشبغ فٜ ٕزا اى٘قذ ّشبغ ٍؼيق ػِ اىزْفٞز . 

8 – Resume:- 

ؼذ ر٘قفٔ فٜ خبّخ اىـ ٝ٘ظغ فٜ ٕزٓ اىخبّخ ربسٝخ ٍؼبٗدح اىْشبغ ىيؼَو ٍشح اخشٛ اٛ اعزئْبف اىؼَو ٍشح اخشٙ ث

Suspended   . 



 

2 – Cost Control 

 ة التكلفة للأعمال المنفذة فعلٌا بالموقع بتعنً مراق☺

وتحدث أثناء تنفٌذ المشروع لمقارنة المخطط بالفعلً ولمعرفة مدي تقدم أو تأخر المقاول فً تنفٌذ الكمٌات المخططة 

 -إتباع الخطوات التالٌة :عن طرٌق    cost control   ـعند تارٌخ التابعة و تتم عملٌة الللأعمال 

 

1- monitor: -  

 

 Actualهً عبارة عن عملٌة القٌاس الفعلً ) ما تم  تنفٌذه فً الموقع من أعمال (  -

 

2- compare: -  

 

                               مع        Scheduling ـوهو عبارة عن ال   Planned cost (Budget) ـهً عملٌة مقارنة المخطط فً ال -

 .  Monitor  ـمن خطوة ال المحسوبActual cost  الفعلً   

3- Analysis: -  

  

  Actual & Schedulingعبارة عن عملٌة تحلٌل أسباب الانحراف والاختلاف بٌن المخطط والفعلً .   -

 

4- Action: -  

 وحل مشكلة الانحراف ان وجد .  هو عبارة عن عملٌة اتخاذ القرار لتعدٌل الأداء -

 

 

 

 



 

1- monitor:-  

  المنفذةعملٌة قٌاس التكلفة الفعلٌة  للبنود  -

                                                              Work performed                              Actual cost   

 

                 Actual cost for work performed                          

 

                                                      A        C       W         P 

Actual cost (AC) 

                                               هً عبارة عن  نظام خاص بالشركة لتسجٌل التكلفة الفعلٌة . -

( WP ) Work performed 

 هً عبارة عن  حصر الكمٌات للبنود المنفذة فعلٌا بالموقع .  - 

2- Compare: -   

مع التكلفة المخططة لنفس الأعمال وهً  Actual cost work performed  ACWPفً هذه المرحلة ٌتم مقارنة 

  Budget cost work performedالتكلفة المخططة للبنود المنفذة 

 

Budget Cost Work Performed  

 

B        C     W       P       

 والتكلفة المخططة حتى تارٌخه للاعمال المخطط تنفٌذها حتى هذا   ACWPالمقارنة ما بٌن التكالٌف الفعلٌة  واٌضا تتم

      Budget Cost Work Scheduleالتارٌخ 

Budget Cost Work Schedule   

 

B        C     W       S  



 

3- Analysis: - 

  -فً الوقت والتكلفة فٌتم حساب الانحراف على شقٌن :هً عملٌة قٌاس الانحراف نتٌجة التغٌرات الحادثة 

 

 

Cost Analysis                                            Time Analysis                     

1 – Cost Analysis:-  

ف الحادث فً التكلفة لمعرفة مدى اداء المشروع حتى تارٌخ المتابعة من حٌث المكسب أو هً عملٌة قٌاس الانحرا

 الخسارة فً التكلفة والتنبؤ بالتكلفة النهائٌة فً حال ان المشروع سار بقٌة عمره بهذا الاداء 

 

 -:Cost Variance ☺ الانحراف فً التكلفة الفعلٌة عن المخططة 

                               C.V = BCWP – ACWP = +ve           Under Budget 

                                                                  0.0            As Budget 

                                                                   -ve              Over Budget 

 

 ذات كمٌة العمل المتساوٌة والتكلفة المتغٌرة لاننا هنا ندرس التكلفة فنثبت عنصر العمل  ٌار العاملٌن ٌتم هنا اخت

 -:Cost Performance Index ☺    مؤشر الاداء لتكلفة المشروع 

                               CPI = BCWP / ACWP = > 1             Under Budget 

                                                                     1              As Budget 

                                                                   < 1               Over Budget  

 



  

☺ Estimated Cost At Completion ( EAC ):- 

بمعنى ان لو كان   عند نهاٌة المشروع نتٌجة الانحراف الحادث عند تارٌخ المتابعة هً عبارة عن التكلفة الكلٌة المقدرة

المشروع به خسارة فً التكلفة حتى تارٌخ المتابعة فنتوقع انه اذا سار المشروع بهذا الاداء الى نهاٌته فستحدث زٌادة 

وهً التكلفة  BACدلا من الـ  ب  Estimated Cost At Completionاكٌدة فً التكلفة الكلٌة للمشروع لتصبح 

  -الكلٌة للمشروع نتٌجة التخطٌط لذلك نجد انه :

Estimated Cost At Completion  ٌحدث لها تغٌر من شهر للاخر اعتمادا على اداء المشروع فً التكلفة

ولو المشروع   BACبٌن الفعلٌة والمخططة بمعنى انه لو المشروع خسران فً شهر فهذا ٌوحً بالزٌادة فٌها عن الـ 

 انها تتغٌر من شهر للاخر .  ملخصشهر ولفً هذا ا  BAC مكسب فً الشهر التالً تقل عن الـحدث به 

Budget Cost At Completion  التكلفة الكلٌة للمشروع والناتجة من عملٌة تخطٌط المشروع لذلك هً عبارة عن

 .  BAC فهً ثابتة بالنسبة للمشروع

EAC = BAC / CPI 

 

 

 

 

 

 

 

 



 

 

  ☺ Estimated To Complete ( ETC ):- 

وانهاؤه بالـ  على المشروع  ACWPهً عبارة عن التكلفة المتبقٌة والمتوقع ان ٌنتهً بها المشروع بعد صرف الـ 

EAC   . للمشروع 

 

ETC = EAC - ACWP 

 

      ☺ Variance At Completion ( VAC ):-        

  EACوالـ   BAC هً عبارة عن الفارق ما بٌن الـ

 

VAC = BAC - EAC 

 

 

 

 

 

 

 

 

 

 



 

1 – Time Analysis:-  

هً عملٌة قٌاس الانحراف الحادث فً الوقت لمعرفة مدى اداء المشروع حتى تارٌخ المتابعة من حٌث التقدم أو 

ة عمره بهذا التأخرفً سٌر العمل بالمشروع والتنبؤ بالزمن النهائً لتنفٌذ المشروع فً حال ان المشروع سار بقٌ

 الاداء. 

 

 -:Schedule Variance ☺ الانحراف فً الكمٌة الفعلٌة عن المخططة 

                               S.V = BCWP – BCWS = +ve                  Ahead  

                                                                  0.0              As Planned 

                                                                   -ve              Behind & Delay 

 

 ذات التكلفة المتساوٌة وكمٌة العمل المتغٌرة لاننا هنا ندرس الوقت فنثبت عنصر التكلفة .   ٌتم هنا اختٌار العاملٌن 

 

 -:Schedule Performance Index ☺    المشروعب لوقتمؤشر الاداء ل 

                               SPI = BCWP / BCWS = > 1                   Ahead 

                                                                     1              As Planned 

                                                                   < 1               Behind & Delay  

 

 

 

 



 

☺ Estimated Final Time ( EFT ):- 

بمعنى ان لو كان   عند نهاٌة المشروع نتٌجة الانحراف الحادث عند تارٌخ المتابعة هً عبارة عن الوقت الكلً المقدر

ه اذا سار المشروع بهذا الاداء الى نهاٌته فستحدث حتى تارٌخ المتابعة فنتوقع انالمشروع به تاخر فً تنفٌذ الاعمال 

 وهً الوقت الكلً TACبدلا من الـ    Estimated Final Timeللمشروع لتصبح  اكٌدة فً الوقت الكلًزٌادة 

  -للمشروع نتٌجة التخطٌط لذلك نجد انه :

Estimated Final Time بٌن  فً كمٌة الاعمالمادا على اداء المشروع ٌحدث لها تغٌر من شهر للاخر اعت

ولو   TACفً شهر فهذا ٌوحً بالزٌادة فٌها عن الـ  مخططة بمعنى انه لو المشروع متاخرفً تنفٌذ الاعمالالفعلٌة وال

انها تتغٌر من  ملخصشهر ولفً هذا ا  TAC فً الشهر التالً تقل عن الـ تقدم فً تنفٌذ الاعمالالمشروع حدث به 

 شهر للاخر . 

Time At Completion  الزمن الكلً للمشروع والناتج من عملٌة تخطٌط المشروع لذلك فهو ثابت هً عبارة عن

 .  TACواختصارها بالنسبة للمشروع 

EFT = TAC / SPI 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

  

 

 

 





 

 



 

  Example Shown Time Cost Integrated System:-  

 

  

 



 


